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QUESTION 1

Which of the following configuration options determines which transactions are placed with a given DSI-EXEC thread? 

A. Dsi_num_large_xact_threads 

B. Dsi_num_threads 

C. Dsi_partitioning_rule 

D. Dsi_serialization_method 

Correct Answer: C 

 

QUESTION 2

The searchable columns clause in a Replication Definition allows? 

A. A RepAgent to filter rows going to the Replication Server. 

B. A WHERE clause in a subscription to filter data being replicated. 

C. The Replication Server to filter data going to other Replication Servers. 

D. A WHERE clause in the Replication Definition to filter data being replicated. 

Correct Answer: B 

 

QUESTION 3

What is the maximum size of a stable device partition? 

A. 1024 MB 

B. 2040 MB 

C. 1 GB 

D. 1 TB 

Correct Answer: D 

 

QUESTION 4

What is the maximum number of routes that can exist between a given pair f Replication Servers? 

A. One direct route 

B. Two direct routes 
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C. One direct and one indirect 

D. Two direct and one indirect 

E. One direct and one indirect in each direction 

Correct Answer: B 

 

 

QUESTION 5

Which materialization method should be chosen for a table that cannot be locked and has over 100,000 rows? 

A. Automatic atomic 

B. Bulk atomic 

C. Bulk nonatomic 

D. Bulk incremental atomic 

E. Automatic nonatomic 

Correct Answer: C 
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